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*** |inear Model ***
Call: Im(formula = ~ + + + +
, ha.action = na.exclude)
Residuals:
Min 1Q Median 3Q Max
-177.2 -23.95 -1.768 22.86 160.5
Coefficients:
Value Std. Error tvalue Pr(>|t])
(Intercept) 251.6526 8.0517 31.2547 0.0000
1.7946 0.3458 5.1900 0.0000
63.9453 8.9081 7.1783 0.0000
-56.9175 8.9596 -6.3527 0.0000
-19.7762 8.9597 -2.2072 0.0281
-57.5974 8.9597 -6.4285 0.0000
-68.6461 8.9609 -7.6606 0.0000
-66.3933 8.9083 -7.4529 0.0000
Residual standard error: 41.78 on 296 degrees of freedom
Multiple R-Squared: 0.5623
F-statistic: 54.32 on 7 and 296 degrees of freedom, the p-value is 0

*** | inear Model ***
Call: Im(formula = ~ + + + +
, ha.action =
na.exclude)
Residuals:
Min 1Q Median 3Q Max
-67.52 -13.85 -0.7543 1295 66.73
Coefficients:
Value Std. Error tvalue Pr>|tl)
(Intercept) 135.7899 4.1281 32.8940 0.0000
1.5077 0.1773 8.5049 0.0000
-19.8578 4.5672 -4.3479 0.0000

14.4229 4.5936 3.1398 0.0019

22.4467 4.5937 4.8864 0.0000

24.7728 4.5936 5.3929 0.0000

28.5512 4.5943 6.2145 0.0000

18.5596 4.5673 4.0636 0.0001
Residual standard error: 21.42 on 296 degrees of freedom
Multiple R-Squared: 0.4482
F-statistic: 34.35 on 7 and 296 degrees of freedom, the p-value is 0

*** | inear Model ***
Call: Im(formula = ~ + + + +
, ha.action =
na.exclude)
Residuals:
Min 1Q Median 3Q Max
-71.27 -9.858 1.606 12.18 36.68
Coefficients:
Value Std. Error tvalue Pr(>|t])
(Intercept) 70.3477 3.4070 20.6478  0.0000
0.9303 0.1463 6.3581 0.0000
-13.2817 3.7694 -3.5235  0.0005
32,5511 3.7912 8.5859  0.0000
43.4099 3.7913 11.4500 0.0000
37.4018 3.7912 9.8653 0.0000
35.0227 3.7918 9.2365 0.0000
36.9662 3.7695 9.8066 0.0000
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Residual standard error: 17.68 on 296 degrees of freedom
Multiple R-Squared: 0.6006
F-statistic: 63.59 on 7 and 296 degrees of freedom, the p-value is 0

[ )
*** Tree Model ***

Classification tree:
tree(formula = ~ + + + + + + +
+ + + + +
+ , data = , ha.action = na.exclude, mincut = 20, minsize = 40, mindev =
0.01)
Variables actually used in tree construction:

Number of terminal nodes: 14
Residual mean deviance: 1.185 =554.4/ 468
Misclassification error rate: 0.2739 = 132 / 482
node), split, n, deviance, yval, (yprob)

* denotes terminal node

1) root 482 981.90 A ( 0.51660 0.28840 0.195000 )

2) : , , , , , , ,
) 267 565.50 B (0.22850 0.45690 0.314600 )
4) : 119 250.50 C ( 0.27730 0.24370 0.479000 )
8) 1103 ,104 199 ,200 299 ,300 399 ,800 55 119.70 A ( 0.40000
0.29090 0.309100 )
16) : , , , , 21 4252 C ( 0.28570 0.19050
0.523800) *
17) : 23 , , , .
, 34 69.93 A (0.47060 0.35290 0.176500 ) *
9) :400 499 ,500 599 ,600 799 ) 64 117.80 C ( 0.17190 0.20310 0.625000 )
18) : , , , , 20 32.95 C ( 0.35000
0.05000 0.600000 ) *
19) : , , , , , , 44 7568 C
(0.09091 0.27270 0.636400 )
38) : 23 , . ,
22 29.77C (0. ooooo 0.40910 0. 590900 ) *
39) 22 37.08 C (10.18180 0.13640 0.681800 ) *
5) : 148 271.50 B (0. 18920 0.62840 0.182400 )
10) :0,2 126 240.30 B ( 0.22220 0.59520 0.182500 )
20) : , 23 , , , .
, 103 195.10 B ( 0.18450 0.60190 0.213600 )
40) :0,1,2,4 73 137.40 B ( 0.23290 0.60270 0.164400 )
80) :20-29 44 71.36 B (0.15910 0.70450 0.136400 )
160) : 20 20.73 B (0.10000 0.85000 0.050000 ) *
161) : 24 46.46 B (0.20830 0.58330 0.208300 ) *
81) :15-19 ,30-39  ,40-49 29 61.06 B (0.34480 0.44830 0.206900 ) *
41) :3,530 51.19 B (0.06667 0.60000 0.333300 ) *
21) : , S, , 23
37.99 B (0.39130 0.56520 0. 043480 ) *
11) 11,322 20.86 B (0.00000 0.81820 0.181800 ) *
3) : , 215 198.10 A ( 0.87440 0.07907 0.046510 )
6) : 178 34. 27 A (0.98310 0.01124 0.005618 )
12) : , , 34 24.11 A(0.91180 0.05882 0.029410 ) *
13) : , , ,
, , 144 0.00 A( 1.00000 o 00000 0. oooooo ) *
7) : 37 79 73 B (0.35140 0.40540 0.243200 ) *



